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QUESTION 1

Which statement is correct about the default configuration of a Mist AP? 

A. VLAN tagging is enabled. 

B. 192.168.0.1 is statically configured on the uplink port. 

C. DHCP is enabled to retrieve IP information. 

D. No interface configuration is provided and an IP must be statically defined after booting. 

Correct Answer: B 

 

QUESTION 2

Marvis requires which subscription? 

A. Wired Assurance 

B. Asset Visibility 

C. Virtual Network Assistant 

D. Premium Analytics 

Correct Answer: C 

 

QUESTION 3

A microwave oven would be classified as which type of interference? 

A. Wi-Fi 

B. rogue 

C. security 

D. non Wi-Fi 

Correct Answer: A 

 

QUESTION 4

You are troubleshooting a signal strength issue when you notice that the signal strength changes from -70 to -73 dBm
as you move from one room to another. 

In this scenario, what is happening? 
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A. Signal strength has increased by 10x. 

B. Signal strength has decreased by 10x. 

C. Signal strength has doubled. 

D. Signal strength has halved. 

Correct Answer: B 

 

QUESTION 5

Which organization is responsible for creating the 802.11 standard? 

A. Wi-Fi Alliance 

B. Ethernet Technology Consortium 

C. Institute of Electrical and Electronics Engineers (IEEE) 

D. International Organization for Standardization (ISO) 

Correct Answer: C 

 

QUESTION 6

Mist Radio Resource Management makes dynamic changes to which resource? 

A. RF template 

B. channel width 

C. channel 

D. BLE channel 

Correct Answer: C 

 

QUESTION 7

You are replacing an existing WLAN with a Mist Cloud-based WLAN. 

Which statement is true about WLAN design in this scenario? 

A. You only need to perform a new WLAN design if the requirements have changed. 

B. WLAN designs are not needed with Mist artificial intelligence and machine learning. 

C. You do not need to create a new design if the existing WLAN design documentation is available. 

D. You should always perform a full WLAN design for new equipment. 
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Correct Answer: C 

 

QUESTION 8

What are two requirements to connect an AP to the Mist Cloud? (Choose two.) 

A. You need a CA SSL certificate. 

B. You need DNS resolution. 

C. You need a static IP address. 

D. You need a DHCP server 

Correct Answer: BC 

 

QUESTION 9

You are troubleshooting a WLAN from a mobile handheld device that displays radio information. You see a signal on the
same SSID from two separate access points (APs). AP A shows a signal strength of -57 dBm and AP B shows a signal
strength of -72 dBm. 

In this scenario, which statement is correct? 

A. dBm is not a measure of signal strength. 

B. The client\\'s signal strength is not known. 

C. Access point A has the stronger signal. 

D. Access point B has the stronger signal. 

Correct Answer: A 

 

QUESTION 10

You are designing a wireless network that requires smooth roaming performance and redundant coverage from at least
two access points at every location. 

What ensures that both of these functional requirements are satisfied? 

A. co-channel interference 

B. secondary coverage 

C. primary coverage 

D. data rate 

Correct Answer: D 
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QUESTION 11

Which statement is correct about Mist Edge? 

A. Mist Edge extends select microservices to the customer premises. 

B. Mist Edge must be deployed in the public cloud. 

C. Mist Edge is a firewall. 

D. Mist Edge is a VPN client. 

Correct Answer: A 

 

QUESTION 12

Which Mist subscription is required for location tracking of Bluetooth badges? 

A. Asset Visibility 

B. Wi-Fi Assurance 

C. Virtual Network Assistant 

D. User Engagement 

Correct Answer: A 

 

QUESTION 13

Which statement is correct about the Mist API? 

A. Proprietary tools are required to use the Mist API. 

B. The Mist API is part of the basic subscription. 

C. You need one AP connected to use the Mist API. 

D. The Mist API requires calling support for access. 

Correct Answer: A 

 

QUESTION 14

Which Mist feature provides an overview of the user experience? 

A. Service Level Expectations 

B. Policy 
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C. Location Services 

D. Insights 

Correct Answer: D 

 

QUESTION 15

A customer wants to physically wire their interior automated sliding doors to Mist APs to directly control location access
to certain office areas. 

In this scenario, which Mist AP capability allows them to accomplish this task? 

A. header pins 

B. IoT interface 

C. optical sensor 

D. audio sensor 

Correct Answer: A 
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